MTTC Chemistry Review Test 4: Gases Name

MDL TIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.

1) The thermal decomposition of potassium chlorate can be used to produce oxygen in the laboratory.

2KCl03 (s) (~ 2KCl (s) + 3O2 (g)

What volume (L) of 02 gas at 25°C and 1.00 atm pressure is produced by the decomposition of 7.5 g of KClO3(s)?


A) 4.5
B) 3.7
C) 11
0) 2.2
E) 7.5

2) The molecular weight of a gas that has a density of 5.75 g/L at STP is


A) 129
B) 3.90
C) 578
0) 141

g/mol.

E) 1.73 x 10-3
3) Which one of the following is a valid statement of Avogadro's law?


A) PV = constant

B) P/T = constant

C) V/T =constant

0) V = constant x P

E) V = constant x n

4) Arrange the following gases in order of increasing average molecular speed at 25°C.

Cl2, O2, F2, N2
A) C12 < 02 < F2 < N2 

B) Cl2 < F2 < N2 < 02
C) N2 < F2 < Cl2 < O2
D) Cl2 < F2 < O2 < N2  

E)  F2 < 02 < N2 < Cl2
5) A sample of H2 gas (12.28 g) occupies 100.0 L at 400.0 K and 2.00 atm. A sample weighing 9.49 g occupies


____L at 353 K and 2.00 atm.

A) 54.7

B) 68.2

C) 147

0)109

E) 77.3

6) A 0.325 L flask filled with gas at 0.914 atm and 19°C contains


A) 1.24 x 10-2
B) 12.4
C) 9.42

mol of gas. 0) 1.48 x 10-2

E) 80.7

7) The molar volume of a gas at STP is ​​______


A) 62.36
B) 22.4

L.

C)0.08206 

0) 1.00

E) 14.7

8) The kinetic-molecular theory predicts that pressure rises as the temperature of a gas increases because

A) the gas molecules collide more frequently with the wall

B) the gas molecules collide less frequently with the wall

C) the gas molecules collide more energetically with the wall

D) the average kinetic energy of the gas molecules decreases

E) both the gas molecules collide more frequently with the wall and the gas molecules collide more

energetically with the wall

9) "Isothermal" means

A) at constant pressure

       B) at variable temperature and pressure conditions 

 C) at constant temperature

D) that Hrxn = 0

E) at ideal temperature and pressure conditions

10) Which one of the following gases would deviate the least from ideal gas behavior?


A) Kr
B) CH3Cl
C) Ne
D) CO2
E) F2

11) A sample of a gas originally at 25°C and 1.00 atm pressure in a 2.5 L container is allowed to expand until the


pressure is 0.85 atm and the temperature is 15°C. The final volume of the gas is
L.


A) 2.8
B) 0.38
C) 2.6
D) 3.0
E) 2.1

12) Of the following gases,


A)Ar

 B)CH4
will have the greatest rate of effusion at a given temperature.


C) HBr
D) NH3
E) HCI

13) An ideal gas differs from a real gas in that the molecules of an ideal gas


A) have an average molecular mass


B) have appreciable molecular volumes


C) have no attraction for one another


D) have no kinetic energy


E) have a molecular weight of zero

14) A pressure of 1.00 atm is the same as a pressure of


A) 29.92
B) 33.0
C) 760.0

of mmHg.


D) 193

E) 101

15) One significant difference between gases and liquids is that

A) gases are always mixtures

B) a gas assumes the volume of its container

C) a gas is made up of molecules

  D) a gas may consist of both elements and compounds 

  E) All of the above answers are correct.

1iters

16) CO (5.0 g) and CO2 (5.0 g) were placed in a 750 mL container at 50°C. The total pressure in the container was ___atm

A) 10.3

B) 4.02

C) 0.292

D) 1.60

E) 6.31

17) The volume occupied by 1.5 mol of gas at 35°C and 2.0 atm pressure is____


A) 38
B) 19
C) 0.026
D) 0.053

E) 2.2

18) The main component of air is

A) carbon dioxide

B) nitrogen

C) oxygen

D) argon

E) methane

Answer Key Testname: GASES.TST

MDL TIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.

1) D

2) A

3) E

4) D

5) B

6) A

7) B 8) E 9) C

10) C

11) A

12) B 13) C 14) D

15) B

16) A 

17) B 

18) B

